Inf2320 Chapter 8

18th November 2003
Exercises
8.1
a)
w = —krlce Mt sin(kwx)
uy = ce K™l cos(kmx)
Ugy = ce*k2”2tk7rk7r(— sin(knz)) = uy
b)
u(0,t) = ce ¥ ™t gin0 =0
u(l,t) = ce Kt sin(kr) =0
) u(z,0) = ce ¥ Osin(krz) = csin(krz)
8.2
a)
— 2
= — (1 - k in(k
f(z) kg‘: k'7r( cos(km)) sin(kmx)

b) See the program ex82.m, and Figure 1.
¢

— 2 2,2
u(x,t) = Z — (1 — cos(km)) e ¥ ™ tsin(krx)
k=1

d) See the program ex82d.m, and Figure 2.

e) For initial condition f(z) = =:

[es) _9 ‘
flz) = ; T cos(km) sin(kmx)
u(z,t) = i ;—j cos(kw)e*k%% sin(kmx)

T
I

See the program ex82e.m, and Figure 3.



Fourier series of f(x)=1
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Figure 1: Exercise 8.2b. Plots of the Nth partial sum of theFourier series of f(z) = 1,
for three different values of N.
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Figure 2: Exercise 8.2d. Plots of the 3rd partial sum of the formal solution of exercise
c¢. The plots for N=7, N=80, and N=100 look exactly the same.



8e) N=7, t=0

0.8 i
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Figure 3: Exercise 8.2e. Figure made with the program ex82e.m. This one shows the
7th partial sum at time 0, which is just the Fourier series of f(z). (Stapled line shows

f(z) =z)

8.3
a)
_ —4(1 4 2cos(km))
k= k33
b)
oo
—4(1+4+2 k
u(z,t) = Z ( +k3;_;)s( 7T))(3_’“2”2t sin(kwx)
k=1
¢) Explicit scheme:
W = a?-a?
At
ué—H = A—x?(ué_l — 2uj + ué—i—l) +u;

d)+f) See the program ex83.m.
e)+g) See Figure 4.



10 8.3 N=50, t=2

T T T T
—— Explicit scheme
- - Formal solution
35F o 1
7, 2 < N ~
Z N
7
3r Y N\ N ~q
7 N
7 N\
7 N
/
25+ y \ E
7 \
/ \
/
“— 2F / \\ 1
/ \
/

150 i
1F i
0.5+ E

0 Il Il Il Il Il Il Il Il Il
0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1

Figure 4: Exercise 8.3. Two different approximations of the solution to (8.91)-(8.93)
at time 2: The explicit scheme, and the 50 first terms of the formal solution.

8.4
a)

f(z) = f: 2kw (1 — ecos(km)) sin(kwz)

2.2
Pt 1+ k%n

b) See the program ex84.m.

¢) See the program ex84c.m, and figure 5.

8.5
Using (8.71):

/01 sin(knx) sin(lrz) de = %/01 cos((k — D)mz) dx — %/01 cos((k + D)mz) dx

Ifk=1
1! 1/t 1t 1 [sin(2k7x)
5/0 cos((k—l)wm)dx—§/0 cos((k + Dmzx)dx = 5/0 cosOda:—§ [T

)
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Figure 5: Exercise 8.4. Plot of the 10th partial sum of the Fourier series for e”.

Ifk #1:

%/0 cos((k — l)wz) dx — %/0 cos((k + l)rz)de = 1 [Sinigc__l;):m)] _% [Sin((gckjlg):x)]

2 0
1 1

0

8.6
a) Using (8.71):

I L I
. (kmz\ . (l=rx 1 (k= Drx 1 (k+ Drx
/0 s1n< T >sm(L)d:c—2/0 Ccos T da:—2/0 cos T ) dz

ifk=1:

L

L _ L L
2 0 2 0 2 0 2

L 7 %L |,

I 1 L

itk #L:



1Y (k-Drz 1 (% (k+Drz
5/0 cosTd;c—— | COST)dQZ
1[ L | (k=Drax 1[ L (k+Drz]”
= - si - sin
2 [(k—Drm L o 2|(k+Dn L 0
1 1
= 5[0—0]—5[0—0]—

b) We want to find the constants cq, ¢2, . . . such that:
= krx
f(z) = ch sin (T) forz € (0, L)
k=1
Multipy the left and right side of the equation by sin(lwz/L) and integrate:

/OL f(z)sin (hTm) dr = /OL (g cr sin (?)) sin (?) dz

Interchange the order of integration and summation, and use the property from part

a:
L o0 L
. (1 . [k e
/0 f(z) sin (%) de = ,;:1 ck/o sin (%) sin (%) dx

L
= 5@
V)
= (B e () gy (R
T 7 ) ce s 7
= e () (BN (RN (g (Er2
Uz ce (L 7 sin { —
Ut = Ugg
d
& 2k (1 — eb cos(km)) sin (72)
f(.'L') - ; L2 +k27r2

i 2km(1 — el COS(kT()e_k2ﬂ,2t sin (lmr_:c)

u(z,t) = 2 e 17

e)+f) See the program ex86.m.



8.7
a)-e) See the program ex87.m.

f)+g) See the program ex87g.m. This program can be altered to solve exercise f.

8.8
Use the property that
&e_Ktu(m,t) = we Kt — KyeK?
= wug.e Kt — Kue XY,
This gives the result:
v+ Kv = ugpe Kt — Kue X + Kue K?
= uzme_Kt = Uzx

Boundary conditions:

v(0,t) = e Ktu(0,t) =

(1, e Ktu(l,t) =

Initial condition:

8.9
a) (8.85):
ut' = aul 4+ (1-2a)ul +aul
= G(ué—la ui’: Ui‘+1)
b)
oG At
—_— = = — >
aU_ @= R 20
oG 1
—_— = —_ > 1 < —
i 1-2a>0 (smcea < 2)
oG At
g = = — >
aU, a= 7 20

¢) The result from exercise b means that G(u}_;, ut, ul ) is neverhigher than G(al ., al ., ul...)-

W = Gyl ) < Gy s ) =

(2 max’ “‘max’ max max

As this inequality is true for all ué“ , it is true for altL

max*



d) Using induction on the above result gives @l < 4, . For u} the inner points
(i = 2,...,n—1) must have a maximum smaller or eqaual to %$,,x and the bound-
aries the value is known to be 0. This gives the result

@l . < max (mzax f(z), 0) .

max

e) The result from exercise b also indicate that G(u!_y,u!,u!, ) is never lower than
ol al il
G(“min’ Umin» umin)'

I+1 _ l /. R il

uz’ - G(ui—l’ui7ui+1) Z G(uminaumina umin) = Umin

This inequality is true for all ué“, including aﬁj{li Using induction on this result
,l -1 . e .

leads to Uy ;, > Up,- When Including the boundary conditions this leads to the

result

@, > min (mwin (=), 0) .

f) Equation (8.100) is a stronger result than equation (8.98) because we can derive
(8.98) from (8.100), but not the other way around. Equation (8.100) can be sepa-
rated into three cases:

if f(z) >0 Vz then 0 < u! < max f(x)
if f(z) <0 Vz then min f(z) < u! <0
if max f(x) > 0> min f(z) then min f(z) < u} < max f(x)

All three results in turn indicate that max |u;| < max|f(z)| i.e. (8.100) implies
(8.98).

8.10

1
Spw = %/0 2(z,t) dz

1
— 9 >
= /Oatu (z,t) dx
1 1

= /2uutd;c:/ Ul gy dx

0 0

1
- 2(u(l,t)um(l,t)—u(O,t)um(O,t)—/ umuzdav)
0

1
= —2/ uldr <0
0

El(t) S Oi.e. E1 (tz) S E1 (tl) for all t2 Z tl Z 0.



8.11
Forz € (0,1) and t < 0:

291y = 2 fa) =0

2 f(&) = 2-g(t) = 0

Both f(z) and g(t) are constants. Since f(x) = g(t), they must be the same
constant.

8.12
Use the property that
/ ' fa)dz = F(1) — F(0) =0,
where F'(z) = f(x). Becaflse f(z) > 0inz € (0,1), F(z) is an increasing function.
In order to have F'(1) = F(0), F'(z) (i.e. f(z)) must be zero for all z € (0,1).
8.13

We know that f(z) > 0, and that S is a subset of [0, 1]. This means that the sum of
J f(z) dz on each interval that is part of S must be equal to or smaller than [ f(z) dx
on the entire interval [0, 1].

> [ twies [ i<

On each interval [a;, b;] we have that

bi
' f(@)dz > (b; —a;) min f(z) > (b; — a;)Ve.

a; a; <z<b;

Putting this together gives the result

%) bi 1
SI=S - <3 [ @< 7 [ @< e

which we wanted to prove.

Projects

8.5.1; Neumann boundary conditions
a) Explicit scheme for solving (8.101)-(8.103) (using @ = At/Az?):

uttt = dbta(ul - 20l +ulyy) fori=2,...,n -1
ur = 20(up —up) +uy
u = 20,y — )+,

U? = f(=z)



b) See the program p851.m.

¢) (8.104) and (8.105) are approximations of the integrals from (8.7), using the com-
posite trapezoid rule. For the inequality from (8.7) to be valid, the result of (8.104)
must be less than or equal to the result of (8.105). The table shows some results for
different At and Az, for T = 1:

Az | At | (8.104) | (8.105)
0.1 0.001 0.0776 | 0.0972
0.05 | 0.001 0.0776 | 0.0973

0.02 | 0.0002 0.0793 0.0973
0.02 | 0.000201 | 1.37-10%6 | 0.0973

The results indicate that the inequality (8.7) is valid for the problem defined in
(8.101)-(8.103). The last result is an example of what can happen if o > %

d) Multiply by u on both sides of equation (8.101), replace wu; with L 2«2, and inte-

29t
grate with respect to z:

/113% - / (2, tyu(z, ) d
028tu r = Oumm,um, z

ug (1,)u(1,t) — uy(0,)u(0,t) — /l ug (T, t)ug (2, t) do
0

With the boundary conditions, u,(0,t) = u,(1,t) = 0, this becomes

Y /1 (2, s (3, 8) dz fort > 0
—— | vwidr=— [ ugz(z,t)us(z,t)de .

This means that the time derivative of fo w? dx is negative, i.e.

1 1
/ u?(z,t) dz < / u?(z,0) dz mbox fort > 0.
0 0

e) The two sums represent approximations of the integral frpm 0 to 1 of w and f.
By trying out different values of Az and At we find that the two integrals are
approximately equal (as long as we remember to use At < Az?/2).

. . 1 . . .
f) The derivative of fo u dx with respect to time is

6 1 1
— u(xz,t)dx = /um,td:c
5 | wen [ wie

1
/um(x,t)dw

0

= wugx(1l,t) —uz(0,t) =0—-0=0.

. 1 . . .
This means that fo u dx is constant in time, i.e.

Alu(x,t)dx:AIu(x,O)dx:/ol f(z)dx.

10



g) A simple numerical test of (8.106) is to have the program p851.m calculate the
difference between the maximum an minimum values of u. If the conjecture is
correct the difference will decrease as time increases. This experiment gives the
following results:

t | max(u) — min(u)

0 2
0.01 1.34
0.1 3.68-102
0.5 4.24.107°

h) When z(z,t) = X (z)T(t) equation (8.101) becomes
X (z)T'(t) = X" (2)T(t).
By dividing both sides by X (z)T'(t) we get

T'(t) _ X"(x)
X(z) X))

Now the left hand side depends only on ¢ and the right hand side depends only on
z. This means both sides must be equal to a constant, which we can call A, i.e.

XII (x)
X (z)

=\
i) If T(t) = ceMt we get:

T'(t) = %ce” = Aee = \T'(t)

J) If X(z) = cos(kmx) we get

2

X"(z) = % cos(knz) = —k*n® cos(krz) = —k*m2 X (2),

which means that A = —k272. We must also check the boundary conditions:

X'(0) = —kmsin(0) = 0,

X'(1) = —krmsin(kmr) =0, fork =0,1,2,...
k) We now know that u(z,t) = X(2)T(t) = e ¥™tcos(knz) is a solution of
(8.101) and (8.102). By the super-positioning principle any linear combination

of these solutions is also a solution. We can write the solutions as a series: (Using
cos(—y) = cos(y) and cos(0) = e = 1.)

o0
u(z,t) =co + Z ce T cos(kmx)
k=1

11



) Ifk=1=0:

/01 cos(kmzx) cos(Irz)dr = /01 cos(0)cos(0) dz

1
= / 12dz =1
0

Ifk=1>0:

[y

/0 cos(kmz) cos(lrzx) dzx cos((k + l)mz) dz + % /0 cos((k — D)mz) dz

[ay

S— S—

1 1
cos(2kmz) dx + 5/ cos(0) dz
0

sin(2kmz)]" 1 [t
e G2 R A |
2km ]0 + 2 /0 de

—

N = N = N = N =

Ifk #1:

/01 cos(kmz) cos(lnzx) dx /01 cos((k + D)mz) dx + % /01 cos((k — D)mz) dx

], 2 [,

O N = N

m) If (8.109) holds then

E cy cos(kmz)

/coda: /f da:—/ chcoskm:
0

k=1

/0 f(z)dz — ;;/0 ¢ cos(kmz) dz

/Olf(m)dm—g [Ckw];

1
/ flz)dz
0
Furthermore
f(@)cos(lmz) = cocos(lmx) + Z cos(kmz) cos(Imz)
k=1

12



/Of(:z:)cos(lﬂx)da: = /Ococos(lmz:)da:+/0 Zcos(kwx)cos(lwm)dm

k=1

1 1 oo
= co/ cos(lrx) dm+/ ZCos(kmc) cos(lnzx) dx
0

0 k=1
B sin(2kmz) " 1
- @ 2k o ck2

2/0 f@)cos(lrz)dx = ¢

n)

u(z,t) =3.14 + et cos(2mx)

0)

lim u(z,t) = lim <c0 + Z C cos(km;))

t<—o00 <00
k=1

o0
= lim ¢y + E lim ¢, cos(kmz)
t<—oo A 1t<700

co+0

= /01 f(z)dz

a) Using the approximations (8.113)-(8.116), we generate a scheme for solving (8.110):

8.5.2; variable coefficients

uzﬂ - Uﬁ _ (kuz)(xi—i—l/z;tl) - (kuz)(xi—l/%tl)
At N Az
C kirp(ubyy —ud) — kg (ub —ul )
B Ax?
utt = b+ At (Biga2(ulyy —ub) — iy jo(ul — b y))
i = i T A2 i+1/2\%i41 i i—1/2\U; i—1

= aki1pui_y + (1= alkiyiy + kim1y2))ul + ok pulyy

Where o = AA—EZ. See program p852.m.

b) We know that k& < M and that @ < 5. This means that (1 — a(kj_1/2 +

kit1/2)) 2 (1 —2aM) > 0 and it follows from the triangle inequality that

i = lakizipui g + (1= a(kiziyz + kig1y2))uf + akippuby |
< |aki_1/2u§_1| +[(1 = a(ki—1/2 + ki+1/2))“2| + |aki+1/2ué+1|
= oki_ypolui_y| + (L= alki_1s + kg1 /o) |ub] + akipr o |ub |
< aki—l/zﬁl + (1 —alki_i2 + ki+1/2))al + aki+1/2ﬁl

= 4

13



fori = 2,...,n — 1. Combined with the boundary conditions this means we can
write

ﬂl+1 < 'Ill,

and, using induction, we conclude that
maxul] < max uf] = max| £ (z:)].

¢) (8.119) and (8.120) are approximations of the integrals from (8.7), using the com-
posite trapezoid rule. For the inequality from (8.7) to be valid, the result of (8.119)
must be less than or equal to the result of (8.120). The results from program p852.m
indicate that the inequality is valid for this problem.

d) We define E(t) = fol u? dz and
wu = (kug)zu

19/11}(“)@ - /l(k )oud
20t 0 ’ N 0 Yz )zt 0T

1
= k(l)uz(l,t)u(l,t)—li:(O)uz(O,t)u(O,t)—/0 ku?(z,t) dx
_ _/lkug(m,t)dx
0

Since both k(x) and u2 (z, t) are non-negative on z € [0, 1] this means that E’(t) <
0,ie.

/01 u?(z,t) de < /01 u?(z,0)dz = /Ole(a:) dz

e) We can test the bound by modifying the program p852.m so that it also calculates
a trapezoidal approximation of the two integrals in (8.121). Running the program a
few times with different values for At and Az (mindful of the stability condition)
indicates that the bound (8.121) holds true.

1 1
/Out(x,t)dm = /O(kuz)wutdm
= F(Lua (L, (L, 1) — k(0)us (0, uy(0, ) — / o (@, g (@, £) do
0

1
= —/ kug(z,t)ug(z,t) de
0

1o ',
_55/0 kuz(z,t) dx

14



a 1 1
—/ ku?(z,t)dz = —2/ ui(z,t) dx

the time derivative of the integral is always negative, leading to (8.121).

g) We have assumed that there exist numbers m and M such that 0 < m < k(z) <
M, for z € [0,1]. We can use this to find the following bounds for the integral
expressions in (8.121).

1 1 1
/k@ﬁ@ﬁ@:z(/mﬁ@ﬂwzm/dﬁ%ﬂm
0 0 0
1 1 1
/ k(z)u(z,0)dz < / Mu2(z,=)dx = M/ u?(z,=)dx
0 0 0

Combining this with expression (8.121) leads to

1 M 1 M 1
| et [ weod=1 [ fad
0 m Jo

m Jo

Programs (MATLAB)

ex82.m

function ex82 (N)

% Plots the Nth partial sum of the Fourier series
% of f(x)=1, for x in (0,1).

% example: ex82(7)

x=0:0.02:1;
f=x.*0;

for k=1:N
c=2/(k*pi) * (1-cos (k*pi));
f=f+c*sin(x.*pi*k);

end

plot (x, f)

xlabel ("x");

ylabel ("£f");

title ([’ 8b) N=’,num2str(N)]);

14
14

ex82d.m

function ex82d(N,t)

% Plots the Nth partial sum of the solution to exercise 8.2c
at time t

% example: ex82d(7,0.25)

o\

15



x=0:0.02:1;
u=x.*0;

for k=1:N

c=2/(k*pi)* (l-cos (k*pi));

u=utc*exp (-k*k*pi*pi*t) *sin (x.*pi*k);
end

plot (x,u);
xlabel ("x"); ylabel('u’);
title([’8d) N=',num2str (N),’, t=',num2str(t)]);

ex82e.m

function ex82e (N, t)

Plots the Nth partial sum of the solution to exercise 8.2e
at time t

example: ex82e(7,0.25)

o° o oe

x=0:0.02:1;
u=x.*0;

for k=1:N

c=-2*cos (k*pi) / (k*pi);

u=utc*exp (-k*k*pi*pi*t) *sin (x.*pi*k);
end

plot(x,u,x,x, ' r—=");
xlabel ("x"); ylabel('u’);
title([’8e) N=',num2str (N),’, t=',num2str(t)]);

ex83.m

function ex83(N,t)

Solves the problem from exercise 8-3 at time t.
both by an explicit scheme and by using the

N first terms of the formal solution.

example: ex83(50,2)

o0 o° o oe

x=0:0.02:1;
Dx= 0.02;
Dt= Dx*Dx/2;
% explicit scheme:
us=x."2 - x.73;
for t=0:Dt:t
for i=2:length(us) -1
u(i)=us (i) 4Dt/ (Dx*Dx)* (us(i-1) —-2*us(i)+us (i+1));
end

16



u(l)=0; u(length(us))=0;
us=u;
end

% formal solution:
f=x.%*0;
for k=1:N
c= —-4* (1+2*cos (k*pi)) / (k*k*k*pi*pi*pi);
f=f+c*exp (-k*k*pi*pi*t) *sin(x.*pi*k);
end

plot(x,u,x,£,'r—-")

xlabel ("x"); ylabel("f");

title([’8-3 N=’,num2str(N),’, t=',num2str(t)]);
legend ('Explicit scheme’,’Formal solution’,1)

ex84.m

function u = ex84 (N, x)

Finds the sum of the N first terms of the
Fourier sine series for e"x

example: ex84(5,0.5)

o° o oo

u=0;

for k=1:N

c=2*k*pi* (1l-exp(l) *cos (k*pi))/ (1+k*k*pi*pi);
u=utc*sin (x*pi*k);

end

ex84c.m

function ex84c (N)

Plots the partial sum of the Fourier series
for e"x. Also plots e’x.

Calls the function ex84.m.

example: ex84c (50)

o® o° o oP

x=0:0.02:1;
u=x.*0;

for k=1:50
u(k)=ex84 (N, x(k));
end

plot (x,exp(x),’ ' r——",x,u);

legend ('e”"x’,’Fourier series’,2);
title (['N=’,int2str(N)]);

17



ex86.m

function ex86(L,N,T,Dx,Dt)

% Solves the problem in exercise 8.6.
% in two different ways.

% example: ex86(2,6,0.01,0.05,0.001)

x=0:0.05:L;

f=exp (x) ;u=x.*0;

% Fourier:

for k=1:N

c=2*k*pi* (l-exp (L) *cos (k*pi) )/ (L*L+k*k*pi*pi);
u=u+c*exp (-k*k*pi*pi*T/ (L*L)) *sin(x.*pi*k/L);
end

% explicit scheme
ex=f;
for t=0:Dt:T

for i=2:length(ex)-1

e(1)=ex(1)+Dt/ (Dx*Dx) * (ex (1i-1) —-2*ex(1i)+ex(i+1l));
end
e(1l)=0;e(length(ex))=0;
ex=e;

end

plot (x,u,x,ex,’'r—=");

legend (' Fourier series’,’explicit scheme’,2);
xlabel ("x");

title ([’'N=’,num2str(N),’ t=',num2str(T) 1 );

ex87.m

function ex87 (N)

for exercise 8.7.a-e

Computes the Nth partial sum of the Fourier series
for " (x"2), using the trapezoidal and Simpson’s rule
example: ex87(100)

o° o° o oe

x=0:0.01:1;
f=x.*0; s=x.%*0;

for k=1:N
ck=TrapRuleFourier (100,k);
f=f+ck*sin(x.*k*pi);
cks=SimpsonFourier (100,k);
s=s+cks*sin(x.*k*pi);

end

g=exp (-x.*x);
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plot(x,f,x,s,'c—",x,9,'ct——");

xlabel ("x");

legend (' Trapez’,’ Simpson’,’exact solution’,1)
title([’8-7 N=’,num2str (N)]);

function ck=TrapRuleFourier (n, k)
n - intervals
k - coefficient c_k

o o

dx=1/n; x=0; ck=0;

for i=1:n-1

x=x+dx;

ck= ck + ex87a(x)*sin(k*pi*x)/n;
end

ck=ck*2;

function ck=SimpsonFourier (n, k)
n - intervals
k - coefficient c_k

o o

dx=1/n; x=0; ck=0;

for i=1:n-1

x=x+dx;

ck= ck + 2*ex87a(x)*sin(k*pi*x) +4*ex87a(x-dx/2)*sin (k*pi* (x-dx/2));
end

ck=ck*2/(n*6);

function £ = ex87a (x)

f=exp (-x*x);

ex87g.m

function ex87g (N)

Computes an approximation of

the formal solution to exercise 8.7

for f(x)=sin(exp(cos(x))), and t=3, using Simpson’s rule.
example: ex87g(100)

o® o° o oP

o N

* O

O .

~ O
=
=
~

UJ>|<|(+
X O w

for k=1:N

cks=SimpsonFourier (100,k);

s=s+cks*exp (-k*k*pi*pi*t) *sin(x.*k*pi);
end

f= sin(exp(cos(x)));
plot(x,s,x,f,’r——"); xlabel ('x");

19



title(["8-7g) N=',num2str (N)]);
legend (’ Solution at t=3’,’Initial condition’,2)

function ck=SimpsonFourier (n, k)
n - intervals
k - coefficient c_k

o° o

dx=1/n; x=0; ck=0;

for i=1:n-1

x=x+dx;

ck= ck + 2*ex87g(x)*sin(k*pi*x) +4*ex87g(x—dx/2)*sin (k*pi* (x-dx/2));
end

ck=ck*2/(n*6);

function f = ex87g(x)

f=sin(exp(cos(x)));

p851.m

function p851(Dx,Dt,t)

Solves the problem from Project 1 at time t.
The initial condition

is placed in subfunctions.

example: p851(0.1,0.0025,1)

o° o° o o

x=0:Dx:1;
% Dt= Dx*Dx/4;
alpha=Dt/ (Dx*Dx) ;

us=init2_f (Dx);

for t=Dt:Dt:t

for i=2:length(us)-1

u(i)=us(i)+alpha* (us(i-1)-2*us (i)+us(i+l));
end

(1)=us(l)+2*alpha* (us(2)-us(l));
(length (us))=us (length(us))+2*alpha* (us (length (us)-1)-us(length(us)));
% max (us)-max (u)
us=u;
end

u
u

ft=init2_f (Dx);
plot (x,us,x,ft, ' r—-");

cl= 0.5*us (1) *us(l) +...
sum (us (2:1length(us)-1) .*us (2:1length(us)-1)) +...
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0.5*us (length (us)) *us (length (us));
Dx*cl;

c2= 0.5*ft (1) *ft (1) +...
sum(ft (2:1length(ft)-1) .*ft (2:1length(ft)-1)) +...
0.5*ft (length (ft)) *ft (length (ft));

Dx*c2;

% find the integrals, using the trapezoid method.
c3= Dx*(0.5*us (1) +sum(us(2:1length(us)-1)) +0.5*us (length(us)))
cd4= Dx*(0.5*ft (1) +sum(ft (2:1length(ft)-1)) +0.5*ft (length(ft)))
% find

max (us) —min (us)

% initial condition
function f=init_f (Dx)
x=0:Dx:1;
f=exp (x) .*x.*(1-x);

% initial condition 2
function f=init2_f (Dx)
x=0:Dx:1;

f=3.14+cos (2*pi.*x);

p852.m

function p852 (Dx,Dt)

Solves the problem from Project 5.8.2. at time t=1.
The initial condition and the thermal conductivity
are placed in subfunctions.

example: p852(0.1,0.0025)

o® o° o oP

% Dt= Dx*Dx/4;
alpha=Dt/ (Dx*Dx) ;

us=init_f (Dx);
for t=Dt:Dt:t
for i=2:1length (us)-1
u(i)=alpha*tc_k ((i-0.5)*Dx) *us (i-1) +...
(l-alpha* (tc_k ((1i-0.5)*Dx)+tc_k ((1+0.5) *Dx))) *us (i) +...
alpha*tc_k ((1+0.5) *Dx) *us (i+1);

end
u(l)=0; u(length(us))=0;
% max (us)-max (u)
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us=u;
end

% Equation (8.119)

cl= sum(us(2:1length(us)-1).*us(2:1length(us)-1))

Dx*cl

% Equation (8.120)

ft=init_f (Dx);

c2= 0.5*ft (1) *ft (1) +...
sum (ft (2:1length (ft)-1) .*ft (2:1length(ft)-1)) +...
0.5*ft (length (ft)) *ft (length (ft));

Dx*c2

% Equation (8.121)
c3=0.5*tc_k (Dx/2) *us (2) *us (2) /Dx;

for i=2:1length(us)-2
c3 = c3 +tc_k((i-0.5)*Dx)* (us (i+1) *us (i+1) —-...

2*us (1i+1) *us (1)+ us (1) *us (1) ) /Dx;
end
c3 = ¢3+0.5*tc_k (1-Dx/2) *us (length (us) -1) *us (length (us) -1) ;
c3

c4=0.5*tc_k (Dx/2)* (ft (1) *ft (1) —-2*ft (1) *ft(2) +ft(2)*ft (2)) /Dx;
for i=2:length (ft)-2
cd=c4d + tc_k((1-0.5)*Dx)* (ft (i+1)*ft (i+1) —-...
2*ft (i+1) *ft (i) +ft (i) *ft (1)) /Dx;
end

cd=c4 + 0.5*tc_k (1-Dx/2)* (ft (length(ft))*ft (length(ft)) —...
2*ft (length (ft) ) *ft (length (ft)-1) +ft (length(ft)-1)*ft (length(ft)-1)

c4

% initial condition

function f=init_f (Dx)

x=0:Dx:1;

f=x.*(1-x);

% thermal conductivity

function k=tc_k (x)
k=1+x;

22



